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There are 30 questions

All _ in all in this section.
questions

. arc compulsory.

“HES W Fer 30 wo ¥
T 0v sifery

1. According to Albert Bandyry

: o lour conditions are necessary in obscrvational
lcarning. The right sequenee ol t

hese conditions is
, Motuivation — Attent . g - - :
(A) ¢ lention — Retention — Reproduction

(B) Autenton — Motivation — Retention — Reproduction

Attention — Retention — Reproduction — Motivation
(D) Attention — Retention — Motiv

(C)

ation — Reproduction

31_‘5&55'@7@ B SR Feomers  arfymy e °R uifefaa smavas €1 @
aicfertaat &1 weY sy |

';(W 3@11111 - a'{Ej'tﬂ:T — YT — q9&q1gH
(B)  HLEH — U — yqRoy HAE A
) ﬂam‘% — YU YA — 3ﬂﬁTUﬂ |
(D) e — YRUTT :ﬂ.‘irj“{n]'{ — J94%cq1gq

According to Sigmund Freud, which method is most appropriate for identifying
the characteristics of unconscious mind ?

(A)  Case study | (B) Dream analysis
(C)  Soctometry technique (D) Interview .

U W o FTHR e WA bl [Rivaran @l sa & &l waifus sugw fafy
HH-G & 2

(A)  Aufthes-3reaaq JB) T favem
(C)  wiinfa el (D) . SEfIchR
. 4 A.D.H.D. mecans

(A)  children with speaking difficulty
(B)  children with hearing deficiency
(C)  children with disorder of attention

(D)  children with visual impairment
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,-('C)‘ 218 ffJ"nﬁT{ AT arere (D) qﬁ';zﬁ'}:[rn el el
9. A test designed to reveal a Person’s gtrength or weakness in onc:or mMOTC arcag,

called ’
(A)  Remedial test (B) Diagnostic test

(C)  Achicvement test (D) Formative tesi

A i ﬁ;""{;‘g? s st it 3w fagmesi i FT 71

A} TR S —B)  FEmTEE wem

(C)  3ueifay qTteqor (D) THIena qdfaqor

S By which constitutiona] amendme

Constitution of India ?

(A)  86th Amendment (B) 74th A 9
mendment

(C) Bgl'hAmundmcnt (D) 918t Amend t
endmen

YR dfaur fr HI-T HOMT 777 e 1 sifuer wfeafera fear mar
4A) 86 91 Uy |

(B) 74 97 Gynys

(C) 89 @l 4y D) 918 vy
6. What is the minimum number of h- ﬂ?lf‘éﬂ.
, ours of work vib g .t
Right to Education Act, 2009 ? tk per week for teachers in th
" . (B) 56
(C) 45 D) 70
P11 & sifgerr sifufrm ; *
¥ , 2009 H [o1e7e & feru ufq g o
FNE 7 - AT H1G qug ) g@
(A) 30 B) 56
K) 45 (D) 70
7.

Which kind of rescarch is done by the principal of school to identify ;g remove
the causcs of various emotional problems of the students ?

A)  Action Research (B) Qualitative Rescarch

(C) Historical Rescarch (D)  Descriptive Rescarch
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) T HTHIT (B)  TOMCHE FTHUH

) UfdeTEsh Y (D) E‘“SHW_ W‘Eﬂ:{
g  Whichof the following theorics is related to lcarning by conscquences ?

(A) Opcrant conditioning (B) Insight learning
() Classical conditioning (D)  Cognitive learning

e 1 R A g gRoTE g dieH ¥ wEE © 2

A fopa-ugd 3 (B) 34?1?1'% IYTH <
C) AT FTFEA D) EATeHS W@

)i When we usc our éurrcnt 'schema’ to interpret the external worid, it is called

(A) Assimilation (B) Association
(C) Adaptation | (D) Equilibrium |
@ F IO T S FET ST ST S [IersuT & X €, o 3§ el ST 3
(A)  STHICHRI (B =Y ' '
C) TP | (D) oA

10. Which of the following is not a characteristic of projective test ?

(A)  Ambiguous stimulus (B) = Freedom to respond

(C)  Subjective perception (D) Objective interpretation

HElAEd H @ HA-H e W £ e 19 ¢ o
S T FEEEs ‘
(C) “ATHIF Ycg&qoy

(B)  SSHAT I el

_ (D) TS &ARE

11.  Child centred pedagogy means s g

(A)  asking the children to follow and imitate the tlcach

(B) letting the children be totally free "

(C)  giving moral education 1o the children

(D) giving importance

i rmafr ”~ ; t;:ih;drcn S Voices and their active participation
(A) q"‘ﬁ_ ‘*‘: fmw hT IFTHT 3 HTHT S

(B) T F PN E A e 3y W

() o=l sl Aideh foer 3y
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}' Raven Progressive Matrices are used to measure

(A Pch(mality (B)  Learning
(C) Intelligence . (D)  Creativity
o sifae Afedst &1 ... T ¥ ford feba ST €1
M AW _ (B) FTYTTH
© = (D) GorATcHehdl

k3. . According to Vygotsky, children learn
(A) by 1mitation
(B) by interacting with adults and peers
(C) when 1ruinfnrcf:munt IS ul’furﬁd
(D) by maturation
TreTTieER! & HTAR ST g @

) FTETE
@) FEEH S TR & W RER d

(©) ST G WS fehar s @
(D) URYEd g 9 '

14 Which psychologist first crcated the intelligence test " -

(A) Wechsler (B) Binet

(C) Specarman (D)  Cattell
EXRECICHIGES %Wlﬁmﬂﬂ{tqﬁwwﬁﬂﬁmw ?
A T

(D) e

cacher make for the upliftment of Gifted children ?

(A) FFIR
(). T

15. What effort should a 't
(A) Slow to tbaﬁh (B) Special classes and motivation

(C) Punishing them

e foreras ERT AW ST ¥ I & HH-91 YA feRar S 2

A)  UgH i HHE fd, 4B)  fafere e 9 dicHE
JEcl!
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16. If the actual age of the child is 13 years and mental age is- 14 years, then what
will be the Intelligence Quotient ?

(A) 112:50 (B) 10769
(C) 110-25 (D) 100-50
gic ST I ARISE G 13 A & AN AHTEH G 14 99 @ A geer =

g 2

(A) 11250 _ | B 107-69

5 lioas D)  100-50

17.  The 'Classical conditioning theory' of learning was propounded by

(A) Skinner

(B)  Pavlov
(C) Thorndike I (D) Kohlberg
8 1 eniaser it fagr’ sfamfea fear ar
a) Rew = (B) U 3
(C) oHERES s (D) e

18.  Causc of juvenile delinquency is

(A)  parental conflict

B)  sympathetic behaviour of family members

C)  working in family with mutual consent
(D)  wealthy family

AA) Ao § T @A
(B) URER o WA &l W:H%‘TT HAeI
(€) ORER 7 37" HI Fenid § F g
(D) WG IRER

ke Which of the following has been ignored in children's Free and Cumpﬁlaun’
Education Rights Act, 2009 ?

(A) Facilitate training of tecachers

(B] Ensuring entry of roaming boys

(C] Defining Academic calender

Arrangement of education after 14 years
(D)

wovo| | 1L
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@ 8 xmq'{w:f:[?ﬁ
ATH F o ue s R R St 2009 ® f7H H &
Rar g )

(A) 3reTasht st wfereror Gferar weH HT
(B) 9] sTeten! & wawr &t giAvEd &
(C)  Thels sorer o1 Fyifta w0

4P) - 14 9N & gy Rorenm awnr
5
0. Whmh of the fnllnwmg steps makes research, action research

(A) Construction of sub-concepts
(B) Programme implementation and evaluation
(C) Generalization | ' | - i

(D) Review of Literature

= o 3 [ =0T 97 i foharene 3T AT & 2

(A) S9HeTTS @1 fympor By T 1 shAradA Ud Hedishe)
(C) M=oy (D) HT%HI sl GRIET0T

21. ' 'The aim of adding Art Education in N.C.F.-2005 i 1S
(A)

to Improve logical reasoning
(B) to develop scienﬂﬁc outlook
(C) to appreciate cultural heritage
(D) to visit historical sighls‘ .
- THLTE. 2005 e o e @ s 1
(A arfes fag o Hglg B) - oFq® qﬁaﬁm %1 TaehTg &«
)  HIEplh foRTed B W (D) Oferfos STTRT T afvsmuy

22.  Development is never ending process, this idea is associated with

fA) Principle of continuity (B)  Principle of ; 1nterrelation
(C)  Principle of interaction (D) Principle of 1ntegratmn
ferehId &4l 9 TANT g arelt Wiohan ¥, 9 e wrafyg &

A)  TeRar & fegra @ (B) A WY & g g

C safFmEfag=d (D) TS F fugr

23,  Which of the following is not a component of intelligence ?
(B) Vocational choices

(A) Logical thinking
(D)  Learning from experienceg

(C)  Memory

3g982 |1
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erfefiga 1 @ wIA-AT1 e T HEH TET e 7 |
(A} ':”f';*'-'d" ftrﬁq . ,_'.{-{3! rj‘”ﬂﬂllﬂuﬁ ﬁf‘a-q.l.
(C) wid (D) 3YEl | g -

following is not a psycho-motor activity of a child ?

24. Which of the
(B)  Writing

(A) Thinking
(C) Throwing a ball (D) Playing

Erfefiga o Q STef 1 hiH-H AishAT FANTCTHS el & 2

A g B)  fera
(C) T T (D) Gl
»5  Who gave 16 P.F, questionnaire to assess personality ?
(A) Gordon Allport (B) Sheldon
(C) R.B. Cattell (D) Sprenger
et 1 T ¥ ford W Ak e e & 2
(A) 7T 3Terdle B) Ve
4C) ARl e D) B=R

26. Which of the following is a characteristic of a gifted learner ?

-

(A) He can feel understimulated and bored if the class activities are not
challenging enough

(B) He gets aggressive and frustrated

(C) He engages in ritualistic behaviour like hand flapping and rocking etc.

(D) He is highly temperamental |

Srferfiga o @ wA-d) faesar gfqurer et i & 2

(A) ﬂ%?ﬁ%ﬁﬂ%ﬁﬁwaﬁrmgdﬁqﬂ’r?ﬁﬁﬁ% ﬁ’ra‘s’wﬂlma«ﬁam
& 3 Fel AT @

(B) @€ S IR HfSd & I &

©) a8 TEf R Hl & S 'Y guguET, e enfe

D) FE Fgd & A il €

27 Inclusion of children with special necds

(A) 1s an unrealistic goal
(B) will incrcase the buiden on the schools
(C) requires a change in attitude, content and approach to learning

(D) 18 detrimental to children without disabilities

666 | P.T.O.
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RIS stravgeEar et aedl @ el S
(A) U syamedfas ded 8 |
(B) fogaredl w ¥R seT /M o PR
(C) %waq%q&w,m_maﬁzmqﬁaﬁaﬁ
(D) o sverar 7 @1, 34 <Al e GEL
__287 Problem solving is not

(A)  goal directed

(B) a skill that can be learned and practised
(C) bascd on the understanding and use of scquential steps

(D) about musical ability

QO GO A&l ¢

(A)  RFIE!

(B) T HE & S d@r o g ¢ AR et Ay a1 S dehdl )

(C) WHH 3R FHEH T % TG W HRA & ‘
_P) qrild gt grgar & SR H

29. Thematic Apperception Test (TAT) of mcasuriﬁg personality 1s a

(A) S.ubjegtivc technique (B) objective technique
(C)  projective technique . (D) experimental technique
TR ety TR1eTvT fthee 1 J9 &
(A)  FHTS T § B ws g
_(C) merdy fafy & ' (D)  wEnTeH fafy &

30.  Which of the following leads to creativity ?

(A)  Emotional thinking (B)  Convergent thinking

(C)  Divergent thinking (D)  Egoistic thinking

Frfetfd o @ -8 goreTsd #) S o sy 3 ?
(A)  GidiTe faam B) IAVERY faam
4€)  IIERT e iD)' ARl fo
ss9s2 (NN 666
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g ug - 11
HTET - 1

fe=t

34 @Ug H el 30 U € |
|t wee 3ifra € |
31 Frfefiaa ®§ @ o feeor 1 e @l )
(A)  Wifecd Gei sl WROT S ?; el AT
(C) Tafery syl <Al 311 FOT (D) AR HA g HE
1o s srRe faf % fagia o At &

R Rl ACARESEAG (B) U I fEgTd .
C(C) g T e TEgid (D) e Tehdll ol rgia
33 = 0 9 SiH-91 ‘g@) geA’ 1 98 :IEDT g ?

(A) S Fre . - (B). 30T AT
(C) THId Ao AP ._,{D)._. e A
34, Ueh 3T Hodish i foRiodl el & - Ll Bt
I (A) Gudr . (B) FES
AC) - HTcHTS - D) AMYHdl

35. TS T & UFR @ |

A) AR W (B) oo e
C) HeTH 7o (D) ATEAHE WA
4. Frefethaa o @ s-ar e e e A qee ferg faEm & et & § 2
A FE TR @ fefm
g W . (D) iR HE .

37 HI 93T I AT &

(A) FTEAROT AT & AW e & |

A4B) @ & ugid [awiad eidl g |
(C) S I Gl bl HAGH Bl & |

(D) L{ohlufdﬂ Eklﬁ' AT ol G IedRUT h{AT |

asos2 | IR ; 666 49 P10
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38. deifed &S &
A) A R B g A
©) 3 g ' (D) el A
30, Wowodo o ARl &1 T FAifeRd # @ @l 3 o
(A) ol sl Sgehdl (B)  SUSHUIl sl FATIH
(C) TR & Al 4p) WAl ot AT
40. I & fafyea et &1 9 fhE TR W g1 =6l ?
) TS R (B) Id WEHE &R
(C) TS TR (D) IF AAMH &N
a1. ‘Tlo T I FEY I ¥l ﬂfr o o ygw 9ed IS ehd STt ) F7 & 7
(A) =9 . (B) HEATEh a3l
€)  Torar-fergrsor 4p)  TTErdE [T |
sz "ﬁﬂﬁ Wﬁﬁﬁ?tﬂﬂﬂﬁ ot 3ugrt g 1" Taifehd % & 9eY YR quwu_%
A) SRE TR | B) fhdl . |
A€ AT oD) H@wq-a’ma?

43. Frefefed & @ oF-91 &39I 8 2
A) T g A U v AR O @l e B ¢ |
(B) §gH g A I GRA Il I AR, AT NG G- “AYF I Ee ﬁm

ST & |
(C) UH g HH Us TuH 39aT ﬁ TN 3 A 3 WS w34
HaT Fed & |

D) 3 F W GYE @ o9 I & |
44. T GME A3 W ASH AL, W Rt F @ d9 41 | 9 @ 3§ AT

wzazra, fafea W wewgmR g M 1" 39 AR § uge W v % 29l T Tel
FH §

(A) I'i‘?"l]_., 4K, ‘T&ﬁ ' (B) ‘i@ % -
€) "E, TR, fFq (D) I, foh, 4@
I A T au G g 0y &3 o AT & | -

WWQT@TFCWQQIFWW WWWW
A TR faeon faevh

TR — T~ R

_‘I

1 (B) T, ST, 39T
C) 2, 91 2y (D) TR, i, <o
58982 WM 666
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frafeil@d meier & YR W Yy i1 46 U 50 ddh & 3L AIfHAU

sy U HAlfaseRl @ Gt €, 3l @ au qsd W Aw FHW o-fawE @ o
QY AH 39! i 1 Ugeh BT & | Y g& F4T & WY hadl & &Yl U & | UF
¥ TN fohddl A HEAT W HATER HT W@ & | &N g2 ° 3T FHAG FAeN H
H%WTWEPT% Iwmﬂﬁﬂﬁ‘ﬂﬁﬁﬁﬁmﬁq{imﬂ g % il & | afg

g% @ e § gidl df I8 B A &6 YA T & AT I I HL ofd |
46. Ffafed o @ ‘S v 1 qa@aardt ¢

(A) & (B) A
(C) e —~(D) e
47. 'HAER' K § HIA-G1 TG & ?
(A) 3 - AB) ¥
(C) 3T . | (D) AH
48. THGREd ¥ 9 Weaas 93 € .
(A) 3G (B) 3TEHY
L) Ta LN D) T@
49. MGG H § fohd ot H Wead e g § 2
(A) = AB) Fedlem
(C) AT™ | - (D) 3HS
50. ‘FANGSR’ ¥e &1 GHg-faug g |
(A) TT 9 [gHR B) T 3R faER.
4C) WA ® fawR | (D) W9 % §N fehR

rfefiad T % YR W 99 G 51 ¥ 55 O & WYl & I} ST :

& Ty et T, W Ut g fen gEs @t @ € | que T SR % §
(o 297 #! G T F YT ¥ FIR IRHT FAT e 31 aF @l dr@ | S
meed 31T Tod &9 SFd & Tl | &9 31 ot SIRmders € | &9 B | & &M g
Sifaer IufAd 31 ded € | 98 o AAgha T Y e H S 981 € 1 Alg §H
TOd T e eid al 3 0 FEl d¢ Hehdl AR WRSY GO H uRord el & Fhdl |-

. ‘T @y o T Jre | hiH-9T e § 2

(A)  QHFY YdehTel _ (B) EMH s
WC)  HHTA AT (D) 3TRY FAHH

38982 | I HINININ [ 666 | | - PTO
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ST g S ST

— -

w

M 14
oy f 1 @ @ v e @ 2
(A) TR (B)
(C) dal D)
53 MYl & AR AROTd ¥ 3 @
(A) o (B)
AC)  ®AARA (D):
4. WG ¥R 1 SgEre 3
(A) 144"1.31{1' 3
) wAg " g
55. ‘gfva’ v &1 I @
JA)  gEgE - (B)
(C) QIS | (D).
o T ¥ e R SEdE 2
A) T | AB)
) @H | | (D)
o ae F O F e AT e 3R
megwwﬁ‘ra’lm? B
() e gEE e g (D

o o T R H e FHE
(A) fhidﬁf‘ll'-id#: W W

B) R
¢ F s HE A

g

aqmawmmlrhﬁ??ﬁ% 7

3T AR ST S
Sy AT X 9ee

)OI ] AT w3 forr S-09 M e

59. ‘9 AT AT S, WHWWW%I o mlqﬁﬁﬂgaﬁﬂ%ﬂm

&l & 7
#) THY AT (B) G
() dgE diFd (D) farETas dre
60. ‘YT Y Heedl ' A4 % HUR W 39 AT H TR 8
(A)  HHEHIE Iy AB)  fagmaras g
C)  TATde (D) Yhdigem
38982 | I A [666
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31.
32.

33

35.

36.

oo MMM (s S it e

(D) All of these

(D) Material aids are used in this approach

~In which of the following ser

(B) 1have lost the faith now

SECTION - II
| LANGUAGE - I
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

True or Falsc answer type question in a type of ..oiviwuaaan gquestion. |
(A) Essay Lypc | (B) Objective type
(C) Descriptive type (D) Short answer type
Unit test is an expression of ............ evaluation.
(A) normative (B) effective
(C) formative (D) Conati?c

%

Evaluation is a process of |
(A) Ascertaining the quality, value of outcomes

(B) ]jctermining the extent qf jthc achicvement of objectives
(C) Cmmpaﬁng the outcomes of instructions

L

Which of the following is a dmddvantage of Situational Appmach ?

(A) It creates interest in tcaching ) _

(B) It1s action based approach

(C) Text-books cannot be taught by this method | '

The tcxt'—bﬂoks help the teachers in which of the follﬂwmg ways ?

(A) 't makes the tcachmg of Enghsh sybtcmdtlc
(B) It checks the teacher from gomg dstray
(C)

[t facilitates sclf-learning and self-study
(D) All of these

niences 1s ‘have’ used as main verb ?
(A) I have a shower cvery morning
(C)

I'have never been to Delhi before
(D)

have admitted my fault
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{ Inductive

;" 37. In which of, the following methods of teaching English languag® e
|l Deductive techniques’ of l,pachmg ate used ?¥

B

b 2 (A)  Grammar cum Translatlon method &
| _1 . (B) Direct method il | SN
i L% (C) Substitution method - & 4
(D) Bilingual method ., | :
38. Which co:mlssmn in 1948 accepted the importance of Eﬂgh-‘-"h’_la_nguagc pEk our
¢ curriculum ? . _ ¥
| (A) Dr. Radhakrishnan Commiission _ A
(B) The Secondary Education Commission L8 ey ’
(C) Central Advisory Board of Education < i

(D) Kothari Education Commission

39. Who of the [ollowing proposed Listening- Speakmg— Wntmg—Readmg order of
teaching for learning English as foreign language ?

(A) E. C. Kittson = (B) Robert Paul
(C) J.’A. Bright (D) P.Gurrey |
40. Which of the following approaches aims at teaching Enghsh by estabhshmg
thorough drill and repetition uf about 275 graded structures ?
(A) Structural Approach | (B) Situational Approach
(C) Bilingual Approach | (D) Communicative Approach

41. Dr. West’s ‘New Method’ of teaching Enghsh emergcd to overc:omc the I:m1tat10ns
of which of the ﬁ:rllnwmg methods ?

(A) Grammar cum Translation method | 2

(B) Substitution method ' _ ‘ A
(C) Direct method | | : |
(D) Situational method

42. In which of the follnwmg types of subslltutmn the variables’ cannot be
interchanged ?

(A)  Simple substitution (B) Compound substitution
(C) Complex substitution (D) Grammatical substitution
43. Which of the following is an advantage of Communicative Approach ?
~ (A) It teaches ways of expression

(B) It ignores grammar and structures of our languages
(C) Its practical utility is yet to be awaited
(D) It is not properly and scientifically developed as yet

4. Which of the- “following is related to the mental development of the learner ?
(A)  Exposition (B) Imitation
(C) Characterization

' 'm L

(D) Comprehension
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45 Which of the following 1s an audio-visual teaching aid 7

(A) Gramophone (B) Flannel-board
(C) Television (D) Radio

46. Which of the following prefixes can be used to form the opposite of the word

legal’ ?
(A) 1l (B) dis-
(C) un- (D) im-
47. Correct onc word for “’I‘heﬁ which never fails” 1s
(A) unfailable (B) 1nfailable
(C) unfallible . (D) infallible
48. Which of the following has a correct.structure of a question ?
(A) Docs Ann has a car ? (B) Does Ann have a car ?
(C) Have Ann a car ? ' - (D) Did Ann has a car ?

49. Which of the following is correct ?

(A) T hope he’ll succeed at his work. ~ (B) I hope hell succeed on his work

[Clﬁ I hope he’ll succeed in his work (D) I hope he’ll succeed for his work
50. Which of the following is correct ?
A) The old car moved much more faster than the new car -
B) The old car moved more faster than the new car

C) The old car moved much faster than the new car

D). The old car moved much more fast than the new car
Read the passage and answer the questions that follow :
Prose Passage ( Q. Nos. 51-55) :

Too much importance must .not be attached to the wrong acts donc by children,
particularly if they happen to be of minor nature. Many boys and girls at a young age
arc likely to be in the habit of stcaling,-neglecting their studics, slipping out of therr
classes or using bad language. In nearly cvery case, the root cause of the trouble 1s the
fact that proper care of the child 1s not taken in the house or sufficient interest 1s not
shown to him. But if the parents were wise, they would correct the faults of therr
children by paying more attention to them. Whatever the case, one thing should never
be done. Bad things in the children should never be repressed, that is, they should not
be compelled to change for the better under fear of the rod. Physical punishment does

not improv~ them. It only makes them worse than before.

51. Which of the following phrases has a determiner in it ?
(A) Causec of the trouble | (B) Change for the better
(C) Worsc than before (D) Many boys and oirls

asos2 | NN 666

PR




02. ... the root causce of the trot
-usaed as
(A) main verb

(C) conjunction

- il
53.  Which of the following has the three degrees ©

[orm ?
(A) Much, more, most
(C) Bad, badder, baddest
94. ‘... in the habit of stealing,

classes ... .’ Underlined words in this p

(A) main verbs

(C) gcrundS

18

ble is the fact ..

STL-Q .

. ' sentence he "
is’ in this part of sCNICNEC AAS beey

B) helping verb

rD) prcp(JSiliOﬂ

the adjective 1n their correct

(B) Many, much, most
(D) Like, likelier, likeliest
ncé]ccliﬁg their studics, slipping out of their

arl of sentence arc uscd as
(B) conjunction

(D) adjectives

55. Which of the following has a possessive pronoun friat 2

(A) Bad things il the children

(C) They would correct the faults

(B) Faults of their children
(D) Whatever the case

56. Which of the following structures of a Qucstion is correct ?
(A) Why didn’t you told me that ?
(C) Why didn’t you that tell me ?

~ (B) Why you didn’t tell me that ?
(D) Why didn’t you tecll me that ?

S57. Which of the following structures of a question is correct ?

(A)  Will be they arrested if they refuse to leave ? | .

(B) Will they be arrested if they refuse to leave ?
(C) Will they be arrested if they refused to lcave ?

(D) WIill they be arrested if they will refuse to leave ?

58.  Which of the following passive voice of the given sentence is correct ?

‘All his fricnds laughed at him.’
(A)  He was laughed by all his friends

(B) Hc was laughced at by all his friends

(C) Hec was laugh at by all his friends

(D) He was laughed at all his [riends.

59.  Which of the f[ollowing words has a diphthong sound ?

(A)  Speed
(C) Paternal

(B) Liquid

60. Which of the following words begins with the consonant sound /j/ ?

(A)  jcalous

(C) yecast
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

61. ‘An clegy’ is
(A)  ajoyful lyric
J’B) 2 Pocm on death of someone dear

(C) a sonnet on nature

(D) a marriage song

P 62. .The_speaker / narrator in the Pastoral elegy is _
(A) a musician. = . AB) a'shephéfd
(C) apaintér . (D) .aiﬁscillptﬁf apab cded efep
IR e is the rhyme scheme of the English sonnet. e L AR
1Ay ahabLSgcd, efef, gg (B) abaE, abab, abc, cde
(C) abc, abc, df::f, def, gg | | (D) abcde; abcde, efef .
_jﬂ._ The drama that developed from religious ﬁtuals 'was- .
) Classica_l drama - (B) Elifzahctl_l_an drama
(C) Medieval drama (D) Melodrama - ;
65. /'beri/ is the correct transcription of | ‘
(A) beri _ we 3% AB) berry
:_'_I (C) bury , | - (D) beary
-.'I'f 66. ‘Exist’is. transcribed as i 2] I - - | 83‘;‘“:‘— : !
(A) /egjhist X LT (B) Jegaest/  €¥T e
b SRS s (D) /lgast/ '
[ A7. The corrcct_ujanscriptiﬂn-(’f virtue' 1s ' .
(A Jwarchu:/ T I )
E ﬂl ST | . « (D) /wait] u:/. . 4
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)
M : :
68 Remedial classes play an S i f(DBr] bright students. "
ey ' | (D) intelligent ones
JJZ‘] disabled ones . te evaluamn
(}9’.‘ An 1mpﬂrtant feature of an adequa i S dlagngstlc
it is irresponsible L5 s S don t_s
[C) it enhances learning e | :
( Q. Nos. 70-72 ) :
“The wind lies asleep in the arms of the dawn
Like a child that has cried all night.”
70. The second line is an example of , _
‘ M) Simile | | (B) Mﬁtﬂph?r
(C) Personification (D) Alliteration
'}1./\ ‘Metaphur’ is defined as
(A) far fetched simile . ~ (B) implied simile
_.{9)/ ccwcrt simile - . | : (D) ' explicit simile
T2 -~ s e 1S an cxamplc of pcrsnmﬁcahon n thc abov¢ 111'135
_A) Wind ; (B) Child i
(C) Night '~ "= (D) That
73. h Blank verse is iambic pcntameter 55 PR Py £ L. A g
_JA) without rhyme . - ; et e e
(B) with rhyme" | |
(C) with élternatc'rhyme
(D) without dltcrnatiff hfhyme 3 | %2
74. ‘O wild west wind, thou brcath of Autumn s bcmg
The above line contains
AR)  Personification and alliteration - e
(B) Simile and allitcrationﬁ | | Ak A ; Lh:”"
(C) Personification and simile & SO
(D) Metaphor and personification™ 2 1
TS, i FT I was no bLtlLI‘ than a dead man, I was alive &m:l ‘Was Hble t
the shore. - - 5 *\__.____ e o) l‘cach
m 'I‘hfough ' _ | B) If < - N
(C) Yel ' D) Moreovcr‘( o

ssos2 01NN | 666 |
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an mmlectious disease
TR y— ”” 1S

(CC)  will (D) have

My T!Il‘I‘Iil and his father . _ ”“1'””“ s 1Oomorrow

_{A] _arc ‘\ (B) 18
(C)  wall (D) have
78 The fisherman cast his net for two whole days but .............. not get a good lof
(A)  cang (B) 11'1'1;:';}}1
(C)  could (D) Imﬂy
/9. Ravi's uncle guided him how he .....ovvvvvvnreinnss attempt his test.
(A) can % ~B) should
(C) mayy (D) will

80. ‘Flying in the face of means

(A) respect ' (B) pray
_C) reward (D) 1insult
81. ‘By fits and starts’ means
(A) not fit to start. (B) good omen :
<) not regular I (D) Speedﬂy |

( Q. Nos. 82-83 ) : Read the following passage and answer the questions :
‘Watching television for a long time could lower academic performance. It ‘steals’ away
the reading time. Time management is about self-discipline. Time must be managed

between filled and unfilled time .’

R G i b may be an appropriate title for the given extract.
(A) Discipline (B) Self-respect
ML) Time-management (D) Television

. : - 3 ]
‘His father never starved, but he couldn’t cast any doubt on the story. So he ha

to make an effort to hold his tongue.’

y-F

83. The linking devices used in the above extract belong to

(A) concession and contrast - (B) opinion and purposc

I ,('{5) contrast and conscqtlm

(C) condition and adding ideas
' - pT.0O

sssz (N [




@ 34
94,  ‘Adjust’ is transcribed as n,fﬁé

Ayt LB /adIUSt/
A 3t v - ah X (B)
: . @
(C)  /3djust/« W R
A ‘Velar’ is the sound formed by ,

(A)  the front of the tongue and the hard palate

BY the lower lip and the upper teeth «”

(C) the blade of the tongue and teeth ridge
(D) the back of the tongue and the soft palate
86.  Sounds TV, 0 ¢ etc.rare
1(A) Semi-vowels (B) lateral
‘/(,Q] [ricativeg ' (D) nasals. |
87.  Which of the following plays the basic role in(léarni;ig a mother tnngu@
(A) Mﬂtivatiun | ~{B) Natl';lfalnéés g _ .
(C)  Habit formation . (D) Purﬁose .
e P E R TIPS IS one of the chief charactenstiﬁs nf Communicative Approach
(A) Examp]e

¥
(B) reading mmpreh¢=_~1-_,‘aim'.‘l -

-‘I‘.. i .

- ¥) both (A) and (B)

s MM 000 (e

(D) none of these

r
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suifeifgem srafed meivry smyige Frafefaan (67 - 72) dl

e g @ wgafeol geendt: genfie ar sEid | aa AP “Fjﬂm

9 g wwafa |

WNWWWWW 'W:me%ﬁ:
AR TGO TRt ade rvaf aar dn: gl 1

67. ‘HIgIRR:’ 3T &1 i
W gl | B T
). WewmE- (D) *35“{”

68. ‘WNETA’ 3G g oTHR ®Y wigsld — |
(A) wvEd S (B) SHHAG
(C) WNE | (D) T

69. ‘ﬁﬁr'mﬁﬁr q=y: 2 e

W rERE (B ANERE
© e x (D) I Wy
iy’ 3aiET W ¥ed: ﬂﬁﬁ— | e
(A q1 - . B), TH

:'-.
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Sl Y gygamy+ g aifed 2
A SR ,
A ﬁiﬂﬂ” Ty (B)  H1UTeh =y

©) Ay RiEL | (D).. . ¥aHSHERY

76 WO St e = -
i cﬁm%mi &R "8’ AT HIEHH: HET Lo Lia 13 RREE3 12 s I
A) Ny B) eI
C) 5 :
| T (D)  3FYq

77 fw&m@;}g
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SECTION ~ IV / @8 - IV
b-sections te. IV(a) Mathematics and Science and

In this  Section, there are 2 su | |
sub-sections consist of 60 Multiple choice Questions

~ IV(b) Social Studies. Both the
g cach.
The candidate has to choose cither IV(a) Mathematics and Science OR IV(b) Social

Studies as sclected in the Online Application Form and answer all the 60 questions
wmﬁﬁmmw(a)mmﬁmwwmm FAGA & | &l
STEUST & v o g0 sgfashedd ¥ € |

W 1 ry(a) niore qur FrEE AU IV(b) WIS Fera, AR FAT AT
ST 3 o &, 8 ) Pl e 9T 1 g & U @t 60 AT BT I A E

SECTION - IV(a) / @US - IV(a)
MATHEMATICS & SCIENCE / TfuTe et fasi=

e Cre are _ | | : -
su]?;{‘udn' o0 questions in all in this section. The candidates who have selected this
JCCL must answer all the questions. .

W@"r@'ﬁ'ﬁﬂﬁomﬁl’ﬁ?ﬂmﬁ]ﬁﬁm%{mqﬂ-qqdm-ﬁﬁ,mﬂmm
3HaEd T | | |

91. The disease caused by virus is

| (g] fyphoig . = oo (B) Malaria
(C) Rabies . (D)  Diarrhoea
FEE AT T & |
By TEwEE (B)  HAlAl
k- (C) &1 . o s
= 92._ Yeast ( Khameer ) is an example of %
| (A) = Bactena ~ (B)  Fungi
| & ). Yuis (D) . Algae
E g (THR) Teh I[EAT § _ SR
L . (A)  STEm & ' - 4B) e A
P (C) Tersmoy & | (D)  IETel H
- /93. Which of the following is a cold habitat plant ?
E (A) Hydrilla (B) ~ Bamboo
| & frfetfad @ HA-91 ¥id 3y &1 95y € 2
& (A FEgen . B)
(C) ATEAT A ) WS

1 ssos2 [HINNIMINN lgss] . - . PT.0




- galmonella typht

4.  Match the following : a. ter
. Tuberculosis b varicella Z0S ;
2. Typhoid c' Bordetella Pertuslb 5
3. Whooping cough d' Mycobacteflum tuberculos;jg
4. Chicken pox *
The correct answer 18 4
3
| 2
b c
(A) d a 2
) e ST ) b
(C) d a = i
(D) a b “
efetfae &1 |et faer Sif
. N l
N CE S o NIeHE IEEEF'l
3 : - A SRR
2. IFRE —— <. b. u,ﬂ'&i
3 T S % o e dreeell q@%ﬂ'
P G : : :
el 3T & |
1 2 3 4
(A) -y e e C
(B) d b e a
A= d = 8 B
(D) a b C d
95. « Which is the largest gland of human Bﬂdy ?
(A)  Liver (B)  Pancreas
(C) Adrenal | (D)  Thymus
A9 YRR FF o) It 7 -t g
M) FTFHd (B)  IWTH
(C) HTYygTF D) oy
96. | In SI unit System, pascal is the unit of
(A)  pressure - ' e (B)- weork
(©)  cnergy (D)  power
Wﬂmﬁwﬁrﬁ e ThGeh! T & 7
AA) | HE (B) FRI
97. Method of heat transf, ' | |
er, by which heat emitt e
(A)  convection | (B) c;nzd g the Sun reaches the Earth g
(C)  radiation (D) COnv: shoow. I
' : €ton and conduction both f
38 *'
282 | EW 666
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T :-i‘I‘L-Z 45 ' ]
3mﬂﬁarmaﬁﬁmfafum1q&ﬁﬁ%amq@ﬁﬁﬁqgﬂ?ﬁ%?

5 (A)  HEEH | (B) ®mer

! ] o) fafegor D) dagA 3 T I

B 98. An object is placed between two plane mirrors which are kept at 60° with each
E @ other. The number of images formed will be

(A) 3 B) 4
€) S | (D) 2T
WER 60° & 1 W 1@ 3 greer it % 7 UF ] @l ¢ | F At Hiferai
! T B * Ut éj
A 3 | B) 4 7%
e ) S L B) .7
* 99. Loudness of sound 1s determined by ................. of sound.
(A) ar‘nplitudc (B) frequency ’
(C)  pitch (D)  time period
W ! dgar ey w/e g1 HYTRe <l STl & |
(A)  AT™EH 4B), A
; (C) dOR

(D)  3TEd e .

£ 100. th:n an object is placed in front of a concave mirror at its centre of curvature,
- the image formed will be '

(A) real, inverted and smaller than object '
(B) real, inverted and equal to the size of object
4 (C) virtual, erect and smaller than object |
(D) virtual, erect and equal to the size of object

STe fehdl] o 1 Tader JUV % GHET IUSh ahA %—;W@W%,ﬁﬂuﬁﬁlﬁ

E:IT" : | ' 7 : N %ﬁi{ :
3 (A) drdideh, 3¢7eT 3R a% 9@ 8T et W ;
' (B) ATRdfdeh, IoTT 3R I o WIEST o SHIeR

(©)  FATTEr, dr R e 9 e

D) ATITE, HYT 3R %] % HES % S _ .
101. Which of the following features of mathematics makes it a global subject ?

(A) Language complexity (B) Brevity of language -
(C) Uniformity of language (D)  All of these .
o ) Fefefad § @ @-a forivar 3§ T At fasa s € 2
B 4 vewafmm @) WM sl HlRTea
E 'Jp)— HIST ehl THEIdT ) AW

. B | P.T.O.
Coososa WM -
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] which of ty,
q]s to contro €
102, Through mathematics teaching, children develop ski
following emotions ?
(A) Lnggic (B) Self-confidenc® | . :
e
(C) Thinking power (D) All of t%es gt fgAtl T@T T BRI
ot fereqor & w9 qlmqa?ﬁﬁ?lﬁﬁaﬁ:‘;hwiﬁ .
forepfad & ST & 2 | | |
W e anf |

" (A)  Synthetic method (B)

What is the method of mathematics teaching ! ged 2

. | to Sc

arch 18 encoura

nethod :
(C) Project method aita vt Labﬂratoﬁ me -. ﬁﬂﬂf[ A
nford fereror &l qﬁd*@rﬁﬁ%ﬁﬂﬂﬁmﬁﬂﬁaﬁ'mﬁ%‘a _

& ygfd i Aicde fFIFlT-IT g ? '

(A)  Gyorsor fary o/)  foretTl ferter _
(C) AT fat ) T B
104. The community objective of defining mathematical terms 1S
(A) Cognitive . (B) Emﬂtlf:lnal
(C) Practical (D) Functional
Ty qet T GRET Y ShT GRS Jevd €
(A) GIIHICHS (B)  HIqh
NC) HERRE (D)
5. = ' is necessary to find out mathematical errors in children.
" (A) Remedial test ' - (B)  Diagnostic test
[C) - 'Oraltest’: - | (D) Nature test
T Ty e & g e o fAg reeEsh @
(A)  STIRTHE TRIET0T JB) I TRie
(©) Hifges e . D) @Y T

106. Denominator of a rational number exceeds its numerator by 8. If 17 is added to
the numerator and 1 is subtracted from denammatﬂr we get the rational

number 3 then the rational number 18

swos2 (WU

2.’
g 2 21
o1 | B
L
13 e I3
7 D) 713



STL'Z 47

ok URTT T B IGF I W 8 Aiyw ¥ gf sty
lmﬁwqﬁﬁaﬁwgwﬁaﬁ%ﬂawmﬁ

M

17 S T 3R &7 o o

) 53 TRETE 21
i B 13
e
L D) . L

(21) 224 B) 1764
(@ﬁzwzﬁ—a ) o) o '
U S T 7, 14 3R 217 ¥ v @ P @t & e d

A) 984 | B) 1764 : oo
(C) * 394 (D) 2056

~Th e L ‘ |

108. The value of 3‘/ ( e +(0-000333) is
0-000215) _

(A)  1-0 (B) 001
(€) 01 (D) 20

. 1 : ' ' ' 3
, = + Y(0-000343) =1 m & |
J(0-000216) ‘ '
A) 10 | (B) 0-01

~4e) 01 | (B):2: 2:0

109. Shankar took a loan of Rs. 25,000 for purchasing a méchine. How much amount

will he repay after 1 year 6 months at annual rate of 12%, when interest is
accumulated annually ? ok ' |

(A) 'Rs. 25,850 | (B) Rs. 27,680

(C) Rs.30,000 _4B)  Rs. 29,680 .

YR TR @R & feT 25,000 Fo FOT A E | TE 1 9N 6 HE AR 129 AN
4 fohdqT g Slerin Siafeh 41t anse @Al aid € 2 |

(A) 25858 80 ¢ . (B) 27,680 To

(C) 30,000 %o g (D) . 29,680 To

Y line fans at the rate Rs. 2,500 each. Out of which one
110, l;ajanr purcllzias_‘zdl ;Wq/: ;:;ﬁt gand other was sold at 8% loss. How much profit or
0 vas st e e whole transaction ? | 5

(B) SR B % proﬁt
(D) 1:5 % loss 3 i3

loss percentage is obtained in th
(A] 35 1055
(C) 35 % profit

11T R ' o




(v | W
T 2 B9 G 2,500 Fo Wi 4@ F T A @) I9H F TP T :
E@iaﬂﬂ%mﬁaaﬁl?ﬂ@%ﬁwmﬁmm#qg :

' B) 7%

D) 1:5% &M

(A) 35 % &I

STL-3

dg & 15% 9 3y

ONE)  35% T :
| tre

A tank of 30 metre long, 20 metre wide and 12 mzt;e. The earth sand sq

588 metre and breadth 50 m height of the ficlg

rectangular field of length
dug out is spread evenly on the remaining part 0

' raised by itis
(A) 25 metre (B)

f the field.

(A) 360 B) 2700
C) 450 (D) 300 |
113. For the following frequency table, the number of persons whose Wclghts are less
than 60 kg is - iad S :
Weight (kg) J 1045 | 4550 | =0.55 | 55-60 | 60-65 | 65-70
¢ —— .
| Number of 4 5 10 R e 8
l persons | - 2 %
(A) 26 | (B) =2 i ’
() 29 (D)} <32 | |
#aﬁ@immnmwﬁ%ﬁaq, 60 fopUT @ &7 '-:’l“‘f:'l Q;WH%F@T% ]
j o (fmy | 4045 [ 4550 | 5055 [ 5560 | 60-65 | 65-70
Awa #1 G| 4 oyt . -
i) 26
FBT Bl 2]
) 29 P)
(D) 32

seo2 (WA
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114. R |
Hillrzwmg pic chart represents expenses on different items in construction of a
' total expenses in construction of the room are Rs. 2,00, 000, then how

mucl}
! Money was expended on labour ?

Others 108°

A 2
(A) 10,000 %o . BT 50,000 %o | 5 m

(C) 60,000 To | (D) 40,000 Fo
115. A bag contains 15 red balls and some green balls. If the probability of drawing
a

grcen ball 1s & then the number of green balls is

=
(A) S | 5
[ 3 " D) = 2 _
W?ﬁ?ﬁrﬁwmﬁ%aﬁ?w_@ﬁ?%tuﬁwiﬁﬁ?ﬁmﬁﬁmﬁ%i

Bl R 7 & T
(A) 5 | o L il
e D) 2 el
(©) (5 ool

| l | rRG. Q)
s R L
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vy wFE frivet ¥ ’
A A
IR
(B) f*
| n in HY ra 15
o) ¥ SR el f cproductio
127. Most c;mr:u{::t::zdc of ascxX B) zm:_gnf:slon
po &
g ((2) Multiple fission (D) % |
AR St ST &l Fehll K
g o :
A) SRS B) E-aEred
(
Cc) R fa@usH AD) Hept

\ 7ol A
(B FHE e 7 By B S o
(o) e S e e (D) e IRTE TR A ‘
/Vz.é Which of the following techniques is most suitable for the disposal of biomed:
waste ? s 5
(A) Land fill (B) Incineration 3
(C) Recycling (D) Disposal in water
ﬁm%ffﬁﬁﬁﬁﬁ:rﬁﬁ dm-ﬂc&vﬁaﬁﬁf@ﬂ Hqﬁﬂ__%ﬁﬁm%ﬁ
(A) Y WEY . +(B) TR
C) T _p) v § R
)‘3@ . Which of the following is known as 'Birdman of India’ ?
D Sl Al S n () A.P.J. Abdul Kalam

(C) Homi Jehangir Bhabha (D) G V. Raman
frfafEs 5 @ g W%aﬁﬂ %mﬁtﬂmmﬁr% ?

A) T ST i g 'lB') Qtﬁﬁa:rqamﬂ.'
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_average spee
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134 Il] givﬂ'l'l ﬁgur{} lfJ” | | q then lhc VHIUC Uf X l.s
p q 95ﬂ r
p ! .95u r
b4
3::;]'\ A A gf
/c;F‘ % " " RS - g e
7 @) 30 X .
2 | ‘
* % S - - o
MSS“ — | (B) 95° —%-‘i
. : % , . \ &

(C) 65° (D) 105 Lk

135. Itis given that AABC = AFDE and AB=5cm, Z/B=40° and £A = 80°. Whlch on
of the following is true ? -

(A DF=5cm: <F=60°  (B) DF=5 ¢m: 2ZE-= 60°
(C) DE=5cm; ZE=60° (D) DE=S5cm; /D= 40°
: ﬁm%%mae—* AFDE 99T AB = 5 @tﬁ /B = 40° 9 ZA = 80°. FrAfetEs 1 3
$I9-91 Tel % ?

| A) DF=53%Hl; /F= 6-0° . DF=5 % ZE = 60° _
- o /ﬁr 3‘5 ¢A
) DE=5HH ZE=60° (D) DE=s594h £D = 40°
. 3 0(- :

6. The main cumin producmg districts of Rajasthan are: -
| S" i :

(A) Bardn Chittorgarh, Jhalawar
(B) Alwar, Jaipur, Nagaur

(C) ~ Sri Ganganagar, Hanumangarh, Bikaner
(D) Jalore, Jodhpur, Barmer | | -

ssos2 (MMM 666
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g H ST & g SR fore &
WT* %Aﬁﬁ@ﬁ;!“ gﬂ_ﬂm'g

{l
L
© A

@ TR, B, e o
JD) ST, Wm Wgﬁ{

/ which of the lollowin

A) Mitochondrig s Cell organey {:Bs has éo;-_n?i;gdfacc. and maturation face ?
' ‘ : | 1 bo
C) L; w?;{'ﬁq : LD)) Flaatht.
i ‘H%ﬁmﬁﬁﬁmq{HW4dﬂmmﬁ%?
N len] o
C) GIEESIESIEE| KA{\ &
‘ 5 D) T rot
th ni:; cr of molar lecth Present in upper jaw of an adult man is ,«,ﬁ n
:g]] siX B)  four | 912 3 X@
\ [D] Elght | S
gg%&h H h ‘ f P -
T SR T oers s e ) <i &
M T etB) TR | = =
C) 9- | D) 33 | _ :
130. Out of the [gllawmg which comes under 'product of science' ? |
(A) - Scientific attitude

(B)  Formulation of i'nypoth{:sis

(C) Scientific laws (D)  Experimentation

et & @ ®e-a, fem % s &

IR AT & 2
A)  FTHE el - (B) Reew S9E
) o fFam (D) YA

140. In science teaching, which type of learning should be
the learning difficulties of the students ?

(A)  Tcam teaching (B) Remedial. teaching
(C) Micro—tcaehing‘ _ (D)  Diagnostic teaching

et Y st sforgdl o FoH & ST R o, v wor & R

planned after diagﬁnating

| ITYRTCHSE f9requr

A) ot fereor J(': e
{C) an ﬁT&TﬂT a8 Eulphatc 1S |
4 Chemical formula of aluminift ST (g0 ) L
A Alzsoﬂf (D) Al(SO, )4
L (©  ALSOLs
| = | | 0.
| 666 P

iaagaz A e




(C) U=y (D) T |

143. Colour of phenolphthalein indicator in alkaline medit™
(A). - white »s. (B)  pink |
(C) yellow (D)  light green

mmqﬁW{iﬂﬂvwlﬁﬁﬂT%
(A)  TH R

44 - - i 4 | ethyl lycol
| thylenc ol a
144. Which of following synthetic fibres is a polymcr of y gLy ng @&
terephthalic acid ?

(A) Arlon (B)  Dacron
(C) Nylon (D)  Rayon _
Frfeiad deeifad e O g HE-dl Eﬁlﬁﬁ ‘Ffllﬂﬁlﬁ 3R éi"ﬁﬁ""% HT wE
TETF & 2 |
(A) IR | B S

(C) AR PRk i D)5 T

145. Onec of the teaching maxims of inductive method is
(A) from general to specific (B) from part to whole
(C) from rule to example (D)  from known to unknown

- g fafy &1 0E Remr g e .
(c a4 fafire =t & (B) .Wﬁ@ﬁﬁaﬂ'{
¢ FardsEma R g ST & ST 3R

146. The main drawback of objective testing is

(A) lack of comprehensiveness (B)  lack of crechbmty
) lack of expression (D)  lack of validity

os2 NN [Sse] .

e e



in the examination ?
B)  Validity
(D)  Reliability -

'ﬂﬂﬁm - D)

. main aim of eXercise drill work in mathf,-ma{m&

to understand new formula e
t0 enhance computation skil

to clear the ncw concept S
0 utilisc the knowledge in new cucumstan *':- e
Wﬁmmmmwé; e
R R W A (D)
method is suitable
| prh mﬂbhsfnng the formula
‘l | m_ the problem through form
a ﬂw solution Of pmblcm
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h i
SECTION - 1V(b) / @S = V(D)
SOCIAL STUDIES / AT 3 ho have sélected thig

: idates W
There are digate

subject myst answer all the questions 3’%’ Hq:ﬁ AR B
; . r C t ) . 3 ’ \ m'l‘ '%'

TS 3 Fet 60 weet §1 forr arvafiry 3 3w fasg &1 94 Y, P

CECIEE TR |

| ' ' | ‘ can
60 questions in all in this section. The

91.  When did Chauri-Chaura incident take place ? | A |
(A)  January, 1922 (B) February, 1922
(C) November, 1922 (D)  April, 1922 :
ARI-9RT WY g7 g gs ? ; B
(A)  SHEU, 1929 (B) WERI, 1922
(C) Faw=R, 1929 (D) f%eT, 1922 S it
92. Which ruler of Alwar appointed Pandit I—larin,arayziﬁ Sharma as his advisori__
(A) . Udai Singh Bl el Siaeh
(C) Ram Singh | | - (D) Man Singh
UTST ERARTET vt B arerw & fe R F 39T FermehR g fhar 2.
(A) SAfdE ol B) SEfgE '
(C) HIGE (D) HEfEE
93.

Who said that ‘religion is the development of the divinity which
human beings, religion is neither in

(A)  Raja Rammohan Roy

18 inherent in
the books nor in religious principles’ ?

(B) . Swami Dayanand Saraswati
(C) -~ Swami Vivekananda D)

Dadudayal | Bha T
A€ TohE- el o1 b ‘ol oy & sfiew Rl tae 1 1T 2, ¥ 7 d qeae A
AR 7 aifge fagrat 7" 2 B A :

(A) - TS IHERT T (B) @ 3 Gt
(C)*© @Mt faaem=< " -‘(p)-m |
94. ~ Who is called the first poct of the deprived class of India ?
(A) Dadu | (B) . Jayanak
(C) Ramdas L T NSRS el
mw%d&raaﬁwwﬁ%ﬁﬁrw% 8
(A) S1§ - (B} SFe

() A | (D)  Bramen
95. Which ruler wrote a letter opposing Aurangze;b'!s. imposition of Jiziya tax ?
(A) Raj Singh (B)  Jaswant Singh
(C) Man Singh | (D) Durgadas Rathore

agos2 TN T




o

0
AT ERT Sifsqay g @E A1 W ferar wrereh [,_H ff”rﬂﬂr ey fepar 7
A)  TsilGg s el f?ﬁ:‘
(€) HHfge (D) T RIS
96. What is the proposed National Assessment Centre¢ named in the National
Education p olicy, 2020 ?
(A) DIKSHA | (B) NIKHAR
(C) DISHA (D) PARAKH | 5
WL RTem +fifyy 2020 T wEAlfele T HHE D% B FT AH e 17 & 2
@) e B) @
(©) T&=m | (D) WE

97. When was the CALP’ programme initiated in upper primary schools in
Rajasthan ?

) 2007-08 (B) 2010-11

) - 2015-16 (D) 2004-05
: *“WﬁWWﬁWﬁm(CALP)WWWW@T’
B A - 2007-08 ~ (B) 2010-11

(C) 2015-16 (D) 2004-05

98. When was the objective resolution’ acccpted by the Constituent Assembly as
. Ppresented by Pt. Jawaharlal Nehry ? _

1t § (A)  December 9, 1946 (B) December 13, 1946

£ (C) Janudry 22, 1947 (D) ‘January 26, 1947
Y. STEIETA Hew R WA Sivy TEAE’ ol WU A9 gRT e @R
™ 2
(A) 9 fE=R, 1946 (B 13_1\3@3?, 1946

a' .

(C) 22 SHeRl, 1947 (D) 26 SR, 1947
The ‘Right to Education’ was made the part of which Fundamental Right by 86th

v

Constitution Amendment Act ?
" (A) Right to Freedom (B)  Right to Equality
.!' (C) Cultural and Educational Rights (D) Right against Exploitation

saﬁaﬁwwnwawﬁaﬂm ‘Torer & sty ﬁmﬁmaﬁwaﬂm

g e ? —

(A) @l & SRR B, .

) fen ud e F1 AT (D) T % forg srfirme
i}OO- When was the ‘Protection of Children from Sexual Offences Act’ enacted in
El,- - i
i India ? |
: i A | (B) In 2012
: e Lo s (D) In 2016

| P.T.O.

ssos2 (RN
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:I 60 ia 19

, Frar 7 21|

WA “wifre syqundt & arerept @1 e Hﬁqﬁﬂq e

(A) 2010 (B),, 40

(C) 2014 (D) 2016‘ ing by doing, 1s
01, The Principle of curriculum which emphasizes E.m -IEdﬂ;f broadness

(A) Principle of motivation (B) Pﬂ.‘ncfpiz of utility

(C) Principle of activity (D) Prm;‘l[IaJT g, 9@ e

TSIHFT & forg fggr ﬁ*m-ﬁr@ﬁ'q"ﬁfﬂma}w

(A) MR %7 fagr & SufiTar ol TEE

©) Torar %1 fagra U |
102. The direction of trade winds in northern hemisphéfev;l(s Stto North East

(A)  North East to South West (B) Rone outh East

West to S
(C)  South East to North West (D) North V

N ¢ N Y ??l'(—'ﬁ% i qa
3T lwiﬂﬁmm$mﬂg <faqor gfged & I 9

(A) 3T yd g gfeqor gfvaH | |
(C) gfeqor ge § ITR U= (D) Wqﬁ‘ﬂﬁ@ ﬂfﬂ}’;@
103. The maximum distance between the sun and the earth is calle
(A)  Perihelion (B) Perigee
(@) “Anhelion L (D) Apogee
(A) 3UER el MR R
(C)  HUHER S am) - Ay

104. In a food chain a ‘rat’ comes under the category of

 (A) primary consumer (B) secondary consumqr

(C) tertiary consumer (D) producer

@ gEar 1 gel’ S it o 37T €, 98 © |

(A) Hr4iHeE 3THIDT (B) fgdges STHRRI
(C) Qrﬁqah E{Ci"i-ﬁﬁ'-:‘r (D) 3dlgch :

105. Which of the following statements is correct ?
(A) The direction of the wind in a cyclone in the northern hemisphere
clockwise |
(B The direction ‘of the wind in a cyclone in the southern hemisphc®

anticlockwise

(C) The direction of winds in cyclones on the earth’s surface is both clockV

and anticlockwise

¥ ; A | Lo
(D) The direction of winds in cyclones on the earth’s surfacc 1S
anticlockwise | |

T — / '.



_as it cnsures

(Aj students ablhty to respond better lh
(B) ‘_ studcnts come to claas wgll I
| active partlmpa n by lear:

|I

a more dlSCl
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110. The headquarters of Rajasthan State Cooper

ative Bank 12

(A)  Jodhpur (B) Jaipur
(C)  Ajmer (D) Kota
ORI oY G} A et sy fed @

(A)  STEYR (B - A3
(C) 39N (D) hicl

- iasthan 7
I11. *City of hundred islands’ is located In which district of Raja
(B) Udaipur

(C) . Pratapgarh (D) Ban sward

R Tt e o & fe foret 7 e € 2

A) T B) IR

(C) WaTe (D) SrEarS | :
112. Which of the following tribes of Rajasthan has been include

primitive tribal group by Government of India ?

(A)  Bhil (B) Saharia ,

(C) Garasia (D) Meena 2

I i ﬁﬂﬁﬁaﬁ:{ﬁr%mm I R e &R W °1'1"1”f1 ge I T4
‘ﬁ‘srrﬁ:rﬂ%mﬂm% R

(A‘ Dungdrpur

in the list of |

(A) Wi | v i) Hgﬁz"
(©)  TRIfEE R
113. The largest sweet water lake in Rajasthan is
(A) Jaisamand P (B) Rajsamand
(C) Kayalana S0 . (D) Silised i
e W 1S g S e w9l il @
A ST 5 (B STEHS
(€) FHEAR . p) faerEs
114. Rajasthan is the largest producer state of which of the fDllOWlng crops in India ?
(A) Maizc (B) Groundnut
(C) Mustard (D) Cotton

5@ IR H = ° 9 -9 G e %rﬂﬁ?ﬁlﬁmm% /

(A} T (B) HITHE!

(C) < | (D) <hUTH |
115. Which is the ]_DESt means of EXplammg the shape of thc carth n a classroom ?
{A) (Globe | (B) Map
(C) Diagram (D) Chart
HATTT FeT 7 G ] 3ﬂc3ﬂd ! HHAT T IS T F9T & 5
a) Tl | (B) TS A
(C) @rad , (D: 91

o2 [N [eee
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L o
VTR WSS &Y werd) fapay oy 3} e @ 7 A
(A) TR B) SN
O mawy D)+ PR
122, In Which area did the Chawand painting style dcvcllop ?
(A Mewar (B) HaroU
(C) Marwar (D) shekhawau
AL et et e freprer foer aer o gaTT 2
(A)  Harg | B) @l
€) HReEE (D) SramEel 5
123, Smt. Kishori Devi was associated with which peasant i
(A) Barar (B) Sikar
(C)  Bijolia (D) Bikaner
et et e ey Forar STreler @ TG T 2
A) Y | (B) HIHT
C) feifer @ (D) @R
124. In which part of the body is the ornament ‘Bajatti’ worn ?
(A)  Nose (B) Teeth
(C) Ear - (D) Neck
‘ST s SmuT YRR % feb s o g fean ST ¢ 2
(A) AT | ' (B) T |
(C) HH . (D) TTel |
125. Edward Thorndike ( 1898 ) is famous for which principle in Education_
Psychology ? | T |
(A) Mecmory theory (B) Forgetting theory
(C) Learning theory u (D) Adjusting theory
ueae UiHerd (1898 ) hl e ey # fvw fagr & fow si=r st & 2
) S # fagr B) fowfa & fagma
(C). HrEa &1 fagr (D) WHENH 1 fggrd
126. Which of the following musical instruments is like a flute ?
(A)  Alagoja | (B) Bhapang
(C) Ravanhattha (D) Tandoora
ffeifiad § | SH-91 arg 99 Sig3 1 @ eldl & 2
(A) SIS - (B) = MU
(C) TeuTge™T (D) g

3sos2 [N '
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of the following pairs is correctly matched ?
Town

Mathura

Ujjain
_Sotthavati
Rajpur
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130. Consider the following statements about Ashoka’s inscriplions :

131.

133.

1, Mdst of the inscriptions arc in Prakrit language

2. Most of the inscriptions are in the Brahmi script
Which of the statements given above is / are truc :
(A)  Only 1 (B) Only 2
(C) Both 1 and? (D) None of these
3T & el & ar & Frefefan FoAr R R I :
1. 3ffussier sifitera wihd w1 H €

2. Fiywiv stfrera sl fafr J €

ST Fol F § w-A1/A B T E/E 2

(A) T 1 Gy e 2
© 1R 23 (D) T | FIE
Which states army did Doongji and Jawaharji fight against ?
(A) Bikaner and Jodhpur (B) Bharatpur and Jodhpur
-(C] Bharatpuf and Bikaner (D) Udaipur and Banswara
_qrﬁﬁaaonswﬁ:‘rmnﬂﬁﬁ@m%fawwém ?
- SR o STUR . (B)  ¥RAQ I SEYT
AR F SEER (D) TAR 9 THAE
'm"'_Who of the following revolutmnanes assumed the pseudo name ‘Amsa
Vairagi’ to avoid arrest ? =
(A) Arjunlal Sethi e el - (B) Pratap Singh Barimth
(C) Kesari Singh Barhath = (D) Jorawar S-mgh. Barhath

ﬁﬂﬁ@f*&mlmﬁﬁmﬁﬁﬁﬁﬁm Wawﬁ 1 BT 9 4

(A) AT Hal (B) WANTHE SRES
() F g arEs D) VIR fiE aReEs
Which revolutionary of Rajasthan w.ﬁs imprisoned in Tihar Jail ?
(A)  Arjunlal Sethi ' (B) Gopal Singh Kharwa
(C) Kesari IS-ingh. Barhath (D) Pratap Singh Barhath
TS % fg wifae @i faers Sl | @ T oar 2
A)  HATA WS (B) U T @wEn
FaU 98 9a7E3 | (D) YA SRES

3sos2 [N [e66]
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‘” i mng the follomng'were in the Chandaval Squad of Maharana Pratap in
0 ﬂ& Of Ha_‘[dlghatl ? | |

?urotut Gopmath Rana Punja

: Jmma.l Mehta | Hakim Khan

Krishnadas Chundawat
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138. Conside o | rjod
llr lh; fﬂ]iuwmg statements about the Vcdl(; l;thﬂr Ash aim s
> ']j:hdmhﬂ Ashram was the feeder of ‘11
3 Thc village officer was called (,rarn:ﬂ
Which of b € merchant class was called V18 s
€ Statements given above is / arc 5 Ron
(A)  Only | 1, 2
(B)
C) 1, 3 (D] 1,2,3
%W%Wﬁﬁmﬁrﬁaﬁmw IR @ S
e L Wwwmﬁwﬂwwm
2. UM ¥ iy St Tl el Sl =
3. ANRT &) i ‘Tomr’ el ST &l
SYYE FUAI § § wH-91/9 el &/8 ?
(A) e | | | (B) s
(C) 213 o) 1,2,3 N
139. Where was the branch of Ramsnehi sect established by Sant Dariyavjl :
(A)  Shahpura (B) Sinhthal
(C) Rain (D) Khedapa
Hd ZRGEsT R Wiﬂﬁﬁ e S YET el e @ e 2
(A) T (B) H&H
(© o * (D) e
140. Consider the following statements about Mahaveer Swami :
1. He was born in Lumbini
2 His childhood name was Vardhamana
B His mother’s name was Mahamaya
4 He was the first Teerthankara of Jainism

'~ Which of the statements given above is / are true ?
(A) Only 2 By -2;3 .
(C) | D, (D) 1,4
HelaR @Hl & aR § =@ s ) FEr S

1. . T ST offfsl H g3

2. 3% I99A HI AT FSHE AT | oL
3. 39! HIAT ST A HRTHET o7 |

4. o S 9H & gUT dreeT o

394 YAl § W HH-A1/8 Tl &/2 ?

(A) FHEA 2 B} 2.3

(OF W81 2 - D)’ 1,4

38982 | [IITINMIIN 666 |
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41. The ‘Nationa] Voter Day’ is celebrated in India on

(A) 25th Janua.ry (B) 25th March
(C) 25th September (D) 25th November
YR N geerar feag! wAM™T AT 8
(A) 25 STy (B) 2574
(C) 25 Mgy (D) 25 Fara
42. 'Agriculture and Irrigation’ are included in the list of the Constitution of India,
which is
(A) the Union list (B) the State list
(C) thf: Concurrent list (D) residual subjects :
W.mqﬁfwﬂﬁﬁ‘ﬂQﬁW'ﬁmﬁaﬁmwé, G
i) §H | (B) T
(C) THaEd g (D) e faug

3. Under which Article of the Constitution of India, the Supreme Court has been

given place as the ‘Court of Records’ ? |
(A) 129 By 130: "
(?) 137 (D) 143 ,
‘Hﬁ*e%m?a;ﬁm aﬁﬁz%-mﬁaaﬁﬁmaﬁ‘aﬁﬁaw"wmm
™l e G |
(A) 129 | (B) 130
§iC) 137 \ (D) 143
4. Under which Article of the Constitution of India,
- vested in the President ?

(A) 53 (B) 54

(C) 55 % (D) 56
ﬂﬂ?ﬁqﬁﬁuﬂ%mwﬁmﬁamﬁmﬁaﬂﬁmmﬁﬁﬁﬁm
gicl & 2

executive power of the union is

(A) 53 (B) 54
Iy 55 - (D). -56

E Chapter 2A of Rajasthan Panchayat Raj Act, 1994 provides the fo o
(A) Gram Panchayat | (B) Panchayat Samiti Ao

: ila Parishad (D) Gram Sabha
W{CJ Zﬂt?iﬁﬂﬁﬂﬁaaﬁlﬁﬂﬂ, 1994%%23&&1@%@3 -
(A) T UaEd : (B) UEEd wiHfq

% (C) AT qﬁ-q':{ | . (D) 9TH 99491

" Which of the following decades registered negative population growth in In dia >
, (m o 1011 (B) 1911 - 192)
© 1921 - 1931 (D) 1971 - 1981

2 | PTO
—— R —




(A)» 1901 - 1911 B) 1911-1921

(C) 1921 - 1931 o) 1971 - 1981
147. Which of the following is the oldest iron and steel comPany in India ?

(A) TISCO | (B) II_SCO |

(C) VISL (D) SAIL

ﬁmﬁﬁﬁqmﬁzmﬁwwﬁmﬁﬁﬁw% 4

(A) TISCO - (B) IISCO

(C) VISL o (D) sSAlL | . 5
148. The correct order of location of given physmgraphlc features _frotn_.' north

south is

(.A] Tarai — Bhabar — Khadar — Delta

(B) Tarai — Bhabar — Delta — Khadar

(C) Bhabar — Khadar — Delta — Tarai

(D) Bhabar — Tarai — Khadar — Delta

ﬁﬂ?‘la@%ﬂ’fml 3T | heqoy fgem A Hﬂf@lﬁﬁﬂﬁ%ﬂ%
(A) TE — 9ER — TR — ST

(B) TS — MeR — o2l — WIRY

(C) WX — TRY — ST — AR
(D) - YR — TI§ — @R_RY — S

149. Which state is the largest producer of Gypsum in India ? .

(A) Rajasthan oV A R S Gt S5

(C) Jharkhand | | | (D) Madhya Pradesh &

R H A 1 Helltush g T HiA-91 & ) '
(A) TSI | B) TN

(C) HREUE | (D) eI Weul

150. Zanskar river is used for irrigation and power generation in which region ?

(A) Arunachal Pradesh | (B) Sikkim |
(C) Ladakh . (D) Garhwal-Kumaon
Wﬁwmﬂﬁrﬂ@fﬁ%ﬁw%ﬁmmﬁmm% ?
(A)  3TEUIEA HRT N B) Tafaerd

e T '- (D) WW |

i 3 .'*;'_ ;
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